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Physics 11
Section 5.4: Tension
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The steps for solving tension problems are...

1) FBD foc each objeck
2 Chooge an axis of motian” (N he curved)

3 Find acceleratisn of whole systeam  (SF=ma forall 0bjects
find rension (5= md for gne gb eck)
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Example: Two carts, attached by a rope, are being pulled to the right with a force of 40 N.
a) Find the acceleration of the carts.
b) Find the tension in the rope.
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Example: Two masses hanging from a massless string over a frictionless pulley are released from rest.
a) Find the acceleration of the system.
b) Find the tension in tue string.
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